Math 251. WEEK in REVIEW 10.

Fall 2013
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1. Evaluate the surface integral [[(z?z + y>%)dS where
s
(a) S is the part of the plane z = 4 + z + y that lies inside the cylinder 2 + y* = 4.
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(b) S is the portion of the sphere 2% 4 y? + 2% = 25 such that O% 5] ";W
Rramebirize the dphere.
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2. Evaluate the surface 1ntgalff(a:+y+z)d5’wh e S is the surface of the cube defined |

by the inequalities 0 < z,y, 2 <1 (_,@Q,g_ec( WMC@) i’l,Or\Vl/]aLé Lé’
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3. Find the mass of the lamina that is the portion of the surface z = 10 — x? /2 between the
planes z =0, z = 1, y = 0, y = 1, if the density is p(z,y,2) = .
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4. Find flux of the vector field F =< ,y, 1 > across the surface S which is the boundary
of the region enclosed by the cylinder y? + 22 = 1 and the planes £ = 0 and x +y = 5.
Use positive (outward) onentatlon for S.
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5. Evaluate the surface integral f [ <z,y,1>- .dS where S is the portion of the paraboloid

z=1—22 — 4 in the first octant oriented by @
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